Diviser Fractions (A)

Nom:

10.

3§+1%
45413
2+ 23
2+ 23
33+ 5
35413
53412
52+ 32
52 + 2
15 +2;

Date:

Calculez chaque quotient.

Conversion 1

= X = =

Inversion Résultat

= X = =

Simplifier

Note:

Conversion |

MathsLibres.com




Diviser Fractions (A) Réponses

Nom: Date: Note:

Calculez chaque quotient.

L3232 24 9 L1
8 8 "2 7 873 7 24 4 T "4
1 9 5 9 4 36 18 3
2l = 373 T 3% T T 5 T
5 8 5 3 15
23733 T 373 T 3%5 T o3
5 11 5 5 25 3
LTS5 T 3Xg T Ty
o zl.l _16.16 16 3 48 _ 3
5 3 7 5716 8 5
2 7 5 7 3 21 1
¢ 33713 = 373 T 3%X5 T T
3 3 23 7 23 4 92 23 2
gl = a1 T Y X5 T g T 7 T3
4 39 10 39 3 117 47
TR T T T ST X0 T 0 T
37 17 37 8 296 58
% T2 T T T X T 19 T 19
o1ttt 3.2 _ 3.4 _ 12 2
27" 274 0 279 18 3
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